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Sr Questions Answers Choice

1 The third generation computer used?
A. Vacuum Tubes
B. Integrated Circuit
C. Transistors
D. Microprocessors

2 Which input device is used to enter voice data

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Scanner</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Microphone</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Mouse</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Keyboard</span>

3 Which one is an application software?

A. <label for="answer-id-5374"
id="answer-label-5374" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: 0px;
font-weight: 700; padding: 0px;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">Windows</span></label>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">MS-Excel</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Linux</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">DOS</span>

4 Normally, floppy drive is designated as

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">A:\</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">F:\</span>
C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">C:\</span>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">E:\</span>

5 The decimal number 27 is equal to the binary number:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">110110</span>
B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">011011</span>
C. <b>11011</b>
D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">0101010</span>

6 A + O is equal to:

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">O</span>
B. A
C. OI
D. A


